—
>
v 1
e,
=
Q
kS
>
o
—
Z
[\
O
=
2107
Z
=~
—i

1072

Ratio to ALICE

0.5

.909 GIeVI PP

Soft QC

D

pT(p) (alice2011-y0.5)

Rivet 3.1.0, = 5.5M events

:ﬁ‘i"’--q. -
— = 0. -
BN Hg "¢
B Hg = ""'w 7
T W T
B, m *.
= | *o
— . u . —
— =N Y 7]
— oL - T -
- \ R —
— m ALICE | —
— --3-- Herwig 7.2.0 default T
— ¢ Sherpa 1.4.0 default g
:I | | | | | | | | | | . | | | | . | | | | I:
: T | T T T T | T T T T | T T T T | T T T I:
; ’ """"""" ‘ ____________ ’ E
- A e =
| "' e _|
PSRN S DS ]
Wrks _|
S

CEE .

L | _
.EBE \\
- \\ B —
. — - hN o -
o cr \ ge-me B g
o
1 " | " 1 1 1 1 | 1 1 1 1 | " 1 1 1 1 " | " 1 1 1 1
0.5 1 1.5 2

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


